9C

212.4 404.0 83.6
181.0 84.4 119.3 138.0 38. 1 12.7
90.5 I | 7.9
i 6.35 wax1| []  49.3
P2 | KEYS. 33
P3 » Pl1 /
S '
: 2 i E © N =}
o N = o o -
H . —— 9 o K\
N { : = — |~ B
s ; :,.} 28
e i —— —}- ¥
. ‘- — J— R IR [UAN S — R — S —— _J(______ N
\ & )i = —t
--o‘s 0 E‘.-- o <
H H < — < s
I N ] n 2.3 x 452 no
, | 8 : KR g
| i ] Y
MOUNTING TORQUE 68 Nm.
1.3x45° | Shaft Code 1

MOUNTING TORQUE 187 Nm.

45°

Shaft Code 4

SAE C-C splined shaft
Class 1-J4398 b

12/24 d.p.- 17 teeth
30° pressure angle
flat root side fit

MOUNTING TORQUE 187 Nm

3/8 16UNC 19 DEEP-4 HOLES
(M10x19 DEEP-METRIC VERSION)

5/8 TTUNC 30 DEEP-4 HOLES
(M16x30 DEEP-METRIC VERSION)

(Keyed no SAE)

7/16 14UNC 22.3 DEEP-4 HOLES

3/8 16UNC 19 DEEP-4 HOLES
(M10x19 DEEP-METRIC VERSION)

N
(o33

26.2

PRESSURE ¢C

(M12x22.3 DEEP-METRIC VERSION)

Shaft Code 3

SAE C splined shaft
Class 1-J4398 b

PRESSURE #25/ SUCTION #101.6

PRESSURE #31.8

12/24 d.p.- 14 teeth
30° pressure angle
flat root side fit

Shaft torque limits [ml/rev x bar]| Alternate port
Pump Shaft | Vixp max. P1+P2+P3 Shaft | Vixp max. P1+P2+P3 Port Code A B oC
1 43240 3 61200 P3 00 & MO 52,4 26,2 254
. 2 66500 4 66500 P3| 01&MI| 476 22 19,0

BACK TO THE TABLE OF CONTENT

89.7
7.9
50.8
_KEY 9.52
g.47
M10x20 Deep
(251
<
w
Ay
—  n|-x
2.3 x 45|, B =
Sem| O
0ol N
~
Shaft Code 2
(Keyed SAE C-C)

NOILVOITddV TVIMLSNANI STI¥IAS 29a9L - B 0°19 : bBIaM - SNOISNINIA



	BACK: 


